P-1

A= B
20234 7H 2H (H)
Y BT o
FTE PR :
HDCP FRR (58): 999.9  HDCP LR (%) 999.9
4 j j N\
g fr | =% ¥ K 4 oUT = IN GROSS| HDCP | NET
= B O ) 41 42 83 | 19.0 | 64.0
HEfERG| © wmm #® AT 42 89 | 24.0| 65.0
M | © =% 42 41 83 | 18.0| 65.0
ART KM B AT ¢ 43 90 | 24.0 | 66.0
R wmoFA | 49 3% . . | 8 210 670
6137 A HIR 43 42 85 | 18.0| 67.0
[ Hoak K 44 45 89 | 22.0| 67.0
8fir FfE B 42 44 86 | 19.0| 67.0
L = H— 47 41 88 | 20.0 | 68.0
R VA | Wl skt ] 47 0 46 . ] 93 ]250] 680
IBEA il fngE 49 48 97 | 28.0| 69.0
1247 AR BEARR 50 43 93 | 23.0| 70.0
13f% Bl i 49 47 96 | 26.0| 70.0
1447 M IEAS 46 45 91 | 20.0| 71.0
R YA | K #f5 | 49 49 - 98270 7.0
1647 P B 44 44 88 | 17.0| 71.0
17h% VEHE = 43 49 92 | 21.0| 71.0
1841 val A 47 54 101 | 30.0| 71.0
1907 HH ZEE 46 55 101 | 30.0 | 71.0
S2002 | ] W Mk 51 4 . .} 91 |19.0} 720
214 MU 53 47 43 90 | 18.0 | 72.0
2243 FIERAN = 53 49 102 | 30.0| 72.0
2311 T % 44 48 92 | 20.0 | 72.0
2445 (S 46 51 97 | 25.0| 72.0
A | WS FEH | 45 52 . .| 97 |2.0| 72.0|
26{\1 AN N 57 42 99 | 26.0 | 73.0
274 £ IEFN 47 46 93 | 20.0| 73.0
28h% LA WS 46 - 46 92 | 19.0 | 73.0
290 B Ju 44 47 91 | 18.0| 73.0
10/ 1A R HE Ke | 43 47 |90 | 17.0| 7.0
3147 R 52 47 99 | 25.0| 74.0
3201 AR A 52 48 100 | 25.0 | 75.0
331 HAR M 47 45 92 | 17.0| 75.0
3443 | RHE 52 . 53 105 | 30.0 | 75.0
VA NS /S B 50 & 52 . 102 | 27.0 7.0
36/\7. ORI 52 44 96 | 20.0| 76.0
37z HT —it 56 . 49 105 | 29.0 | 76.0
38/ BE —ER 52 | 46 98 | 22.0| 76.0
39z A PR 53 © 51 104 | 28.0| 76.0
(_ 4007 B2 53 . 51 104 | 28.0 | 76.0 )

Tk =)L 7 AHEEED



P-2

A= B
20234 7H 2H (H)
Y BT o
FTE PR :
HDCP FRR (58): 999.9  HDCP LR (%) 999.9
4 j N\
g fr | =% ¥ K 4 OUT N GROSS| HDCP | NET
41457 R T = 49 47 96 | 20.0| 76.0
42151 H FIR 52 44 96 | 19.0| 77.0
4337 HI B 47 51 98 | 21.0| 77.0
4401 (e 46 © 53 99 | 22.0| 77.0
VA KX W= | 46 55 . | 101 | 24.0 77.0
4647 Hel i & 58 51 109 | 30.0| 79.0
4THE R R 48 © 50 98 | 19.0| 79.0
4847 fBH EEZ 50 53 103 | 24.0| 79.0
4907 JVH B 51 49 100 | 20.0 | 80.0
1V A | vAE EME ]! 53 . 52 . .| 105 | 2.0 8.0
514 a7k 458 47 50 97 | 17.0| 80.0
523 L 60 50 110 | 29.0 | 81.0
53f7 = =) 59 . 51 110 | 29.0 | 81.0
5447 Fy FE 55 47 102 | 21.0 | 81.0
1Y A | wmos 54 . 48 . 102 | 21.0 8.0}
56/ T A8 —RR 53 53 106 | 25.0 | 81.0
57{3r HER ot 51 52 103 | 22.0 | 81.0
S HA H— AT © 55 102 | 21.0 | 81.0
59 LS/ 55 47 102 | 20.0 | 82.0
LV A | wA =] 52 1 50 1 102 | 20.0 8.0,
61AL [ 185 51 © 50 : 101 | 19.0 | 82.0
62{37 BRI ] 50 50 100 | 18.0 | 82.0
6311 RE = 51 © 54 105 | 23.0| 82.0
6407 Bl BF—H8 44 55 99 | 17.0| 82.0
o650 | ] o #EeL 55 1 5T 112 129.0 8.0
6617 BIA Sz 51 © 58 109 | 26.0 | 83.0
67 RO 59 45 104 | 20.0 | 84.0
68fL NI T 55 52 107 | 23.0| 84.0
69fi7 A —% 53 © 56 109 | 25.0 | 84.0
SToh | ] W #Rw 48 B3 . 101 | 17.0 ) 8.0
TINE gl YE 62 53 115 | 30.0 | 85.0
(PZIA AH T 55 60 115 | 30.0| 85.0
T3/L FasF ik 53 50 103 | 17.0 | 86.0
AT (A fEA 54 56 110 | 24.0 | 86.0
A | L 61 . 54 . 115 | 27.0 ) 8.0
76/{r i R 51 61 112 | 24.0| 88.0
(e HAR K 59 60 119 | 30.0 | 89.0
T8\ fasr Lk 53 66 119 | 30.0 | 89.0
7907 fA  SH 65 55 120 | 30.0 | 90.0
L 80f\% HE = 60 60 120 | 30.0 | 90.0 )

Tk =)L 7 AHEEED



P-3

Afl= B

20234 7TH 2H (H)

B TR BT 4

FIHCHIBR -

HDCP B[R ()0 999.9  HDCP PR (Z): 999.9
( . . . h
g pr | = & K 4 ouT = IN | GROSS| HDCP | NET

8147 E - 49 63 112 | 21.0 | 91.0

82{\f. EE) T 60 . 57 : 117 | 21.0 | 96.0

SEINA & 76 . 42 | 118 | 21.0 | 97.0

841 W 57 ¢ 70 ; 127 | 30.0 | 97.0

L A eS| 59 T4 133 130.01103.0}
M U REE 0 | 30.0] 99.9

J

Tk =)L 7 AHEEED



